¢ Metody rozwigzywania uktadéw réwnan liniowych

10 -1 2 3

-1 12 3 -1
A=

2 3 13 2

3 -1 2 14

d:= |A| =1.7943 x 10"

L = cholesky (A) =

y = Lsolve(L,b) =
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x := Lsolve (A,b) =
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x1 := Lsolve(U,y) =

= |L| =133.951484
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0.110628 0.011648 —0.016552 —0.020509
1 0.011648 0.090899 —0.023909 7.412361><10_3
M:=A — X2 :=M-b=
—-0.016552 -0.023909 0.086608 —-0.010533
—0.020509 7.412361><19_3 —0.010533 0.077858
rank (A) =4

norml(A) =20 - Norma L1

norm2 (A) =17.383695 - Norma L2

norme (A) = 25.787594 - Norma Euklidesowa (Frobeniusa)

normi (A) = 20 - Norma «
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max Z |A1,j R Z |A@,j
j =0 j =20
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j=o

Aa = eigenvals (A) =

(Ai’j)z = 25.787594 - Norma Euklidesowa (Frobeniusa)

3
, Z |A3,j| = 20 - Norma o
j =0
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max Z |Aj,@|, Z |Aj,1|, Z |Aj,2|, Z |Aj’3| = 20 - Norma L1

j=e j=o j=o j=o

L2 := |max(Aa)| = 17.383695 - Norma L2



